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SAMPLE QUESTION PAPER -3

Section A 1 Mark

1. Theset AN A’ is:

A b


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lXmyB0R28q9D

C.A

D.A

Answer:

o Watch Video Solution

2. The maximum value of (cos #sin @) is

A.O

B.1/2


https://dl.doubtnut.com/l/_lXmyB0R28q9D
https://dl.doubtnut.com/l/_dTM0qx7EaQdG

Answer:

° Watch Video Solution

3. Complex conjugate of i is :

A

C.O


https://dl.doubtnut.com/l/_dTM0qx7EaQdG
https://dl.doubtnut.com/l/_PqIsMCMEIA9G

D. 1

Answer:

O Watch Video Solution

4.The value of 1°Cy; =+ 1°Cy equals :

A.15/11
B.15/10
C.5/11

D.5/10


https://dl.doubtnut.com/l/_PqIsMCMEIA9G
https://dl.doubtnut.com/l/_2X5uHszgsbj2

Answer:

° Watch Video Solution

5.1f a,b,c are in AP.then:

A abe
"2

B. 2b=a+c

C. 2abc

D. 4abc

Answer:



https://dl.doubtnut.com/l/_2X5uHszgsbj2
https://dl.doubtnut.com/l/_C1slW4kGyqzz

\ ° Watch Video Solution

6. The locus of a point, show abscissa and

ordinate are always equal is :

Azxz+y=20
B.x —y=20
Cxz+y=1

Dz+y+1=0

Answer:

I O Watch Video Solution


https://dl.doubtnut.com/l/_C1slW4kGyqzz
https://dl.doubtnut.com/l/_eTXd5Fu2uTRj

7. The equation 22 + 3y -9z +2y+1=0
represents

A. ellipse

B. parabola

C. hyperbola

D. circle

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eTXd5Fu2uTRj
https://dl.doubtnut.com/l/_rVr3AZJyHU9q

8. HH= U3Tdd:- lim [z(z + 1)]

r—3

A.3
B. 12
C. 21

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFeVFye6Nifi

9.1n a single throw of two dice, the probability

of getting total of 7or 9 is::

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_spBpti2Dxdot

Section B 2 Mark

sin(z +y)  tanz + tany
1. Prove that — =
sin(z —y)  tanz — tany

° Watch Video Solution

2. Prove that sec + cos 8 can never be equal

1:3
05

° Watch Video Solution



https://dl.doubtnut.com/l/_L80JKNJCQ2Dk
https://dl.doubtnut.com/l/_kgiIojGwUQjE

3.50lve /22> 4+ ++/2=0

° Watch Video Solution

4, Find the value

(vV3+v2)' + (V3 - v2)°

of

° Watch Video Solution

5.Evaluate 1°Cy + 1°C, + ... + 190,

° Watch Video Solution



https://dl.doubtnut.com/l/_9uPq27gj2K3V
https://dl.doubtnut.com/l/_JCmpbsVa25ZK
https://dl.doubtnut.com/l/_7geqbtXKKJFe

6. Show that the points : (0,4,1),(2,3,-1),(4,5,0)

and (2,6,2) are vertices of square.

° Watch Video Solution

7. Show by contradiction p = /2 is irrational.

° Watch Video Solution

Section C 4 Mark


https://dl.doubtnut.com/l/_7geqbtXKKJFe
https://dl.doubtnut.com/l/_f5XnivQfUU8k
https://dl.doubtnut.com/l/_h5Dg0HcgZa3l
https://dl.doubtnut.com/l/_4rIralCRIclv

1. Out of 500 car owners investigated, 400
owned car A and 200 owned car B, 50 pwned

both A and B cars. Is the data correct ?

o Watch Video Solution

2. Prove the following:

cosdr = 1 — 8sin® z cos® z

o Watch Video Solution



https://dl.doubtnut.com/l/_4rIralCRIclv
https://dl.doubtnut.com/l/_Xs4bXW9Dk42y

3. Prove the following:

cosdr = 1 — 8sin? z cos’ z

° Watch Video Solution

4. If 2tana = 3tanf, show

~ sin2f
5 —cos28

tan(a — B)

that

° Watch Video Solution



https://dl.doubtnut.com/l/_9vr41Fm3YQV4
https://dl.doubtnut.com/l/_Ok7dPNaFxY8N

5. Using principle of mathematical induction,

prove that

1 1 1 1 n

12 23 34 T omyn  ntl

o Watch Video Solution

6. Find n, if 2"01, 2y and "Cj5 are in AP.

o Watch Video Solution



https://dl.doubtnut.com/l/_bFJR7GqPmKdW
https://dl.doubtnut.com/l/_ICYeqsXX9Zpg

39
7. The sum of first three terms of a G.P. is 0

and their product is 1. Find the common ratio

and the terms.

o Watch Video Solution

8. If a® b%, ¢ are in AP Prove that

a b C
b+c c+a a+b

are also in A.P.

o Watch Video Solution



https://dl.doubtnut.com/l/_6LddfwvHSS22
https://dl.doubtnut.com/l/_T3WHlWpcLaUr

9.Find the length of major and minor axes, the
the co-ordinates of foci, the vertices of the

ellipse 3z* 4 2y* = 18.

o Watch Video Solution

10. The foci of a hyperbola coincide with the

22 y?
foci of the ellipse — + — =1, find the

25 9

equation of hyperbola if ecentricity is 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_8nMNjt3Vj3Pt
https://dl.doubtnut.com/l/_vWA79ZTlcim5
https://dl.doubtnut.com/l/_cNIpBksS2GG1

_ o sinx
11. Find the derivative of - wir.t., x
1+ sinx

o Watch Video Solution

12. A box contains 10 red marbles, 20 blue
marbles and 30 green marbles. 5 marbles are
drawn from the box, what is the probability
that

all will be blue

° Watch Video Solution



https://dl.doubtnut.com/l/_cNIpBksS2GG1
https://dl.doubtnut.com/l/_dKjXsAF9vTmf

13. A box contains 10 red marbles, 20 blue
marbles and 30 green marbles. 5 marbles are
drawn from the box, what is the probability
that

at least one will be green

o Watch Video Solution

Section D 6 Mark

1. Find the modulus of

1+ 1—1
1—1 1+3°

Y. l


https://dl.doubtnut.com/l/_iVq8KeMWRGWS
https://dl.doubtnut.com/l/_LPGMRMq7d8R5

| ¥ VWatch Video >Solution ]

2.E L+, lar f
-Express ——— in polar form.

o Watch Video Solution

3. Solve the inequalities given below and
represent the solution graphically on number
line:-

5122 — 7) — 3(2x + 3) < 0,2x + 19 < 6x + 47

° Watch Video Solution



https://dl.doubtnut.com/l/_LPGMRMq7d8R5
https://dl.doubtnut.com/l/_lw5WZ7oPnIuT
https://dl.doubtnut.com/l/_ej4RuJqDRiOl

T T x T
d n
prove that Y + ° =y
dz n!

° Watch Video Solution

5. Use delta method to find the derivative of

sinx -+ cos .

o Watch Video Solution



https://dl.doubtnut.com/l/_t4PhSZUKu9d0
https://dl.doubtnut.com/l/_F03LIpojTqen

6. Find the mean deviation from the mean for

following the data 4,7, 8,9, 10, 12, 13, 17.

o Watch Video Solution



https://dl.doubtnut.com/l/_ifAdvJNzRjq5

